
NUMERACY - Test 7.1 - NO calculators
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Joe is 152 cm tall.

Calculate the correct answer

1/2 of 300 =

A B C D E F G

1
2
3
4
5

Which shape is at G5?

Approximately how tall is the wall?

1.3 m 1.7 m 3.2 m 3.5 m

pentagon octagon decagon hexagon
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What is the next number in the pattern?

2.5, 5.0, 7,5, 10.0,

5

4

1 metre ruler

The line is 40 cm long.

How many pencils laid end to end will reach 90 cm?

4 5 6 7

6

Which shape has the same area as the rectangle above?

10 cm

4 cm

5 cm

8 
cm

4 cm

6 cm

7 
cm

4cm

9 
cm

8 
cm
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The square has a perimeter of 40 cm.

What is the length of each side?

cm

Andrew connected the points from:
(2,7) to (6,7) to (8,4) to (1,4) and back to (2,7).

8

7

Which shape did he draw?
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How many balls will balance with a 1 kg block? 

9

The average temperature on Sunday was 12 degrees colder 
than the average temperature on Saturday.

What was Sunday's average temperature?

10

17 oC -12 oC -7 oC -5 oC

1 kg

The table displays the average temperature in 
Edmonton, Canada, for one week.

SUNMON TUES WED THUR FRI SATDAY

TEMP. ??-6 oC -7 oC 9 oC 8 oC -1 oC 5 oC
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